Unit 3 – Revising Percentages, Comparing Distributions and Trigonometry
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The price of a car has increased in value by 30%. If the car is now
valued at £7800 what was its previous value?

John is 136 cm tall. If John is 85% of the height of David, find David’s
height.




image5.png
A yacht costing £34000 is expected to depreciate at a rate of 4.8%
per annum. Find the value of the yacht after 5 years.
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3. The scattergraph opposite shows the marks of a
group of pupils in maths and physics exams.
David scored 21 in maths and 28 in physics.
Kulvir scored 91 in maths and 88 in physics.

(a) Describe the relation between the maths and
physics marks.
(b) Find the equation of the line of best-fit.
(c) John scored 63 in maths. Use your equation to 10
estimate his physics mark. A - . maths
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1. Find the equation of each line below

(a)
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(a) The number of pupils in 7 third year classes in a secondary school are
25 24 28 22 24 30 22
Calculate the mean and standard deviation of the class sizes.

(b) In the same school the mean and standard deviation of the number of pupils in
7 fourth year classes are 22 and 4.4 respectively.

Make two comparisons between the class sizes in third year and in fourth year.
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The diagram shows the relative positions
of a church, a statue and a flagpole at the
corners of a park

(a) Calculate the distance from the church
to the statue.

(b) Calculate the area covered by the park.





